Best model for HELP J143456.997+354750.570 at z = 1.686 x2=3.81
OPTx?=5.14 IRy?=1.56 threshold (OPT IR)=21.49 [um]

102 E : Stellar attenuated
i e Stellar unattenuated

—— Dust emission

101 _ —— AGN emission
E = Model spectrum
1 ® Model fluxes
100 - [ Observed fluxes

E E
é 10—1 .
X
2 62
w 107° 3

10—3 4

>é|_0—4 4

=}

q_— 1 1

= ] ==f=(Obs-Mod)/Obs

3 ]

S ]

b ]

o O0+r-=MR-F-N171-- P —————————————————-

o ]

()]

2

5 ]

© -1 T CIGALE

]

[a'd

10° 10! 102 103 104 10° A
Observed wavelength [um] .



